3.1. In the printTable() method, does the variable i correspond to the first index or the second index in the 2-dimensional array table?

	


3.3.  What output was generated?

	 


3.4.  Why do all of the columns in the table line up when they are printed?

	


3.5.  Is the following declaration valid (even though there are a different

      number of elements in the rows)?

	


3.8.  What error is generated and why?

	

	


4.1   What did you do to fix the problem in printTable ?
	


4.2 Show the output produced by your altered code

	


4.3 Insert the code for your writeTable method here

	


4.5   Show the output produced by running your altered driver with your writeTable  method
	


4.6 Insert the code for your printTableWithHeaders method here

	


4.8 Show the output produced by running your altered driver with your printTableWithHeaders method 
	


